H & 0l & AHS B Ml A

20233 = =0llah LB DIt M2

M DleliEA2

Ha: DRCHD 2HE U 2Y

Cel: SN2 EA5t (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Ol2Iti = A2 1,931,552 1,239,822 691,730
= 28,248
Al 1,903,304
S3EAS 45 & 23 1,828,784 1,148,306 680,478
= 28,248
Al 1,800,536
CAZ2He 2435 1,734,826 1,008,406 726,420
Ay 28,248
Al 1,706,578
zEs Y FA2e 183,129 197,600 A14,471
101 @124 d| 23,833 32,428 A\8,59%
M IIRHNZ2Z2 RS2+ 23,833 32,428 A\8,595
OgdaARA (=Y 2Y) 23,833
>ol2a 2,305,270 x 15«93 20,748
> AX=E 11,0303 *8A| 2++1H+8 706
>=0AZRY2 21,453,350 *4.5% 966
DHABEZ 21,453,350 +3.495% 750
CEIRYBEZ 749,800 *12.27% 93
DNESER 21,453,350&*1.75% 376
DAMEEZ 21,453,350 *0. % 14
201 LB-EAY| 52,576 57,492 24,916
01 AtR22eltl 52,576 57,492 24,916
OztdE A== 12,0003 505+ 128 7,200
QUE R=: 18,0002 * 135+ 122 2,808
OTMNAAHIA 2=E2(0I12IU, B, 5
SH, MOIR) 1,409,000& * 12& 16,908
Ost=XIEMHIA 0l1Z2(0I2ILH, ENE)
5,500,000 * 14| 5,500
OENME2 A2 6,960,000& * 14! 6,960
O&=A03 1,2002%7,0002 8,400
OZele AR2 800,000&x65 4,800
202 0441 6,720 7,680 A\960
01 =2LHO4 ] 6,720 7,680 A960
OFAM2&2| HRFE bl
560,000 =12 6,720
405 XHHFSH| 100,000 100,000
02 TN 100,000 100,000
OEM & HIEA 2
100,000,000 * 14 100,000
SN OIERAMEIA XA 69,287 67,387 1,900
201 B2 AL 69,287 67,387 1,900
01 A=R2teld| 25,499 23,599 1,900
Oxtzal 28 ARE 6,075,000& * 14! 6,075




2A:

Oleith A2

Y DTZCAB BHE U 2
o EA22Ee 243t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=AUZE =Yl 7,000 #6602 4,620
OOEl0I=SAE =E MX
12, 000244250 3,000
OSM HIIPS NilA 29
1,000,000 *14] 1,000
OS2 NEEHZ 29 3,000,002 14} 3,000
OFY0IS AZEH bz
10,0002 »100H 1,000
OEHAHE oIt 22| It
15,0002 *100H 1,500
OdMARE 7Y 1,000,000 *14] 1,000
O0ISAE BFH AS=7 2ZE 0 A
2t 0128 18,0002 »28[H 504
O=sclAoIZ2d 29 1,000,0002 %14 1,000
OSHS0RI 2ALS(43)
80,0002 *352] 2,800
02 35244l 43,788 43,788 0
OOLE=AAMHIA IS S¢S
130,000& ~ 12 1,560
O ANZRIANAE M S4B (0I2IL, EHE)
70,0002 123 840
OO0ISXHE VODAMHIA Ol2=(0I2ILH, EHE)
250,000 * 122 3,000
OZHBEINAEY E8 T2+
311,666,400 8% 24,934
OICT ALY S8 SX24
65,846,000 *12% 7,902
O3 A BIZUHE |KXEx(0I2ILH, EHE)
11,880,000 *15% 1,782
O0ISAE P FAIE 130,000 +29CH 3,770
HAANEZS =mA2c 574,775 543,352 31,423
101 @124H| 115,389 67,238 48,151
MU IRNZZENSE 115,389 67,238 48,151
(@==s E'—E"—%(/\IQ% 2 I |A22l) 49,527
>llEs 2,386,780 «2&*9Z 42,963
D> AXt=E 11,4203 xBA| 2H*2H+8L 1,462
P=RYUASIELES 44,423,800 *4 . 5% 2,000
DPALEES 44,423,800 *3.495% 1,553
PEIIQAEE= 1,553,0002%12.27% 191
(PR =tnt=: N 44,423,800 *1.75% 778
DAHES = 44,423,800 0. %% 400
> Ul =H| 90,0003 =2 180
OSYLRA(BALS & s¥22) 65,862
>llEs 2,386,780 «2F 12 57,283
D> AXt=E 11,4202 «8AI 22+ 11 2,010




2A:

Oleith A2

Y DTZCAB BHE U 2
el Eha2Ee 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
P=RYUASIELES 59,292,640 *4 . 5% 2,669
PALEES 59,292, 6403 *3.495% 2,073
PEIIQAZE = 2,073,000 %12.27% 255
PUESEE= 59,202,640 *1.75% 1,038
DAHESEE 59,292,640 0. %% 534
201 Ler23| 389,186 388,914 272
01 At2teltl 25,500 31,500 26,000
OFARR| 228 1,500, 0002 122 18,000
OUFB2IT ASLDSUI(RI, 48, 52|
s) 150,000 2 300
OF==J| & HiOl Xtz
600,000 122 7,200
2 35234l 363,686 357,414 6,272
OFSPIEei=) 3.,000,000& *12& 36,000
Odolr=ER= 1,000,0002 122 12,000
OostIes 1,130,000& ~ 128 13,560
OJABAL =2 & HiaHY 28=
200,000& x14] 200
O M2EIHI(BI=EEMBE3IH 2 28)
360,000 +35 1,080
OagotdE a(| 100,000 *14] 100
OZAIDFA (L)
7803 +6.5=+7CH+BA| 2H+ 72 20,443
OSAIDA ()
73136 . 5E+7CH+BA| 2«42 11,176
OANd=E RAE+ 20,000,000 * 14 20,000
Oa2=435HY 150,000 «12& 1,800
OB 24 2 | ZA
145,000 x30H* 123 5,220
O&Jl&| etdae] e =49
400,000& 12& 4,800
OAagdd| etz e =9
440,000 <123 5,280
OUEAIEH |2+ e 24
3,100,000 14| 3,100
OFA 2AEAHI(DI2ILH, EHE)
350,000 x 122 4,200
OaxsEa| RAEs2c E4
1,300,000 *14] 1,300
O0el0I=0IAIE tEEH S
1,100,000 14| 1,100
OBA HAEHHI 222,327,000 x 14 222,327
206 MH=H| 5,000 8,000 A3,000
01 M=4l 5,000 8,000 23,000
OFAL & & mAl&el
5,000,000 * 14 5,000




2A:

Oleith A2

Y DTZCAB BHE U 2
el Eha2Ee 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 65,200 78,200 A13,000
01 Al&H| 65,200 78,200 213,000
O=d 20 "2l
28,200,000& x 14 28,200
Olleltisd =gae|
17,000,000 * 14! 17,000
Obl2lsa Ald2te]
15,000,000 * 14| 15,000
OO0lgl0l =0IAIE 25
3,000,000 %14 3,000
OXRIN PES P4
2,000,000 *14] 2,000
BHEA2 2 99,021 120,149 A21,128
101 e124d| 23,833 32,428 A8,595
M ORNZZ2NSE S 23,833 32,428 28,59
HHARR (=Y 29) 23,833
>ol=s 2,305,270 1893 20,748
D> AXt=& 11,0302 +BAI 2+ 18 +8L 706
P=EHASRY=s 21,453,350 *4. 5% 966
DALEEHZ 21,453,350 *3.495% 750
PENQLEEE 750,000 %12.27% 93
PHNESZES 21,453,350& *1.75% 376
>AHEE S 21,453,350 0. %% 194
201 et 3| 75,188 67,721 7,467
01 At22t2l] 43,825 36,502 8,323
oddlEs =8 12,0003 135+ 123 1,872
Otz 7s= 17,0003 75+ 128 1,428
O=AMEelAEE 1,000,000 %14 1,000
OXtzd 298 223 1,400,0002 %14 1,400
oolEtsE d=H Ass7 2ZE N o
2t 01828 18,5002 * 10CH 185
o018l HE= Fd
250,000 122 3,000
OSAEsZ2 08 28 225
1,500,0002 %14 1,500
OMEE st 28 ZA==Z(58)
90,000 1802 16,200
OER0{2I0122 2 A (42)
120,000& #3032 3,600
OR0ISAHRA 29 2MEZ(43)
120,000 *302] 3,600
OTHBZEZ o Mo o, =9l 2 29
2,480,000 *14] 2,480
OHEEAMS 2 22 29
6,000,000& 14 6,000
(OFSE DI PN=: 130,000& * 12 1,560




2A:

Oleith A2

Y DTZCAB BHE U 2
el Eha2Ee 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 31,363 32,219 A\B56
oNIIR3 700,000& * 122 8,400
OQIHY HE3ld(SHRS)
800,000 x 12 9,600
Odotr = 100,000 »12& 1,200
OHIBEAZ SAREINAL X4
55,727,000 *8% 4,459
OolEXt PCRAIE 130,000& * 12 1,560
ONEE Sat+d ALY R+
275,000& 128 3,300
O&JIEH| etd2e| ez
77,0003 * 122 924
OAgdd| otd2ie| s
160,000& * 12 1,920
SSTAZ Ofj2tAlRE A 63,614 79,918 16,304
[ 28,248
Al 35,366
101 ©1AH| 63,614 79,918 16,304
[ 28,248
Al 35,366
M ORNZZ2NSE S 63,614 79,918 A16,304
OHHALA(DICIHE A2 H2AIZE HE) 63,614
>llE2s 2,305,270 2H* 123 55,327
= 25,429
Al 29,898
D> AXtg 11,0302 +BA| 22+ 11 1,942
>=EH=SRYES 57,267, 7602 *4 . 5% 2,578
= 1,145
Al 1,433
PALEE= 57,267, 7603 *3.495% 2,002
= 889
Al 1,113
PEIIQUZEE 2,001,510 %12.27% 246
[ 110
Al 136
PUEEEE 57,267,760 *1.75% 1,003
= 445
Al 558
DAES S 57,267,760 0. %% 516
= 230
Al 286
BHE=A2 2 =4l 28 745,000 745,000
201 et 3| 42,000 42,000
01 At22t2l] 42,000 42,000




M DleliEA2

Ha: DRCHD 2HE U 2Y

Helr TA22Zo 24 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ox=2d HIE bl 20,000,000& * 14| 20,000
OS A2t OIM(0IAL) 8Y =2
22,000,000 *14] 22,000
405 AtatE = 703,000 0 703,000
01 TR =S FISHI 577,000 0 577,000
O M2ZCIANAY A=
417,000,000 x14] 417,000
O&Jl HIZ bl 160,000,000& * 14| 160,000
02 A+l 126,000 0 126,000
Oz A 126,000,000 *14] 126,000
SEM2EZ Y 29 93,958 139,900 N45,942
SNWF 76,658 65,600 11,058
201 fer=3| 72,818 62,720 10,098
01 AtR2t2|H] 42,720 42,720 0
O0lgl0l & 3ad 2% A2F 7Y
3,000,000& *14] 3,000
OHoI2E ARE 1Y
3,000,000 *14] 3,000
Oo0l=lol & HAHE 23 2A=E(42)
120,000 *902] 10,800
OdgelZa ZA=E012)
370,000& »302 11,100
OO0EI0l UHSAMWA A (22)
230,000 +83] 1,840
Oonlelll 6iESAEn 23 (WKFH)
12,980,000 * 14 12,980
03 A2 I 30,098 20,000 10,098
o2 =N Z208 2 (W=s3Hl)
10,008,000 * 14| 10,098
OZHBR U SA < #A
20,000,000& »14] 20,000
202 048l 3,840 2,880 960
01 2L AL 3,840 2,880 960
OSsAMuE gFFN O
320,000 * 128 3,840
SAEE 29 17,300 14,300 3,000
201 2= 17,300 14,300 3,000
01 At2t2lt] 17,300 14,300 3,000
Os2T278 AQE DY
1,000,000 14| 1,000
OSAEE #3240 2
10,0002 *1,0002 10,000
OSAEE Z208 ZAE
3,300,000& *14] 3,300
OSAEE F2 2d(0F4 J138)
3,000,000 14| 3,000




2A:

X XH -
o=

DIZILhE A 2
HNY2AHH|(DI2ILIEAZ)
ol 2AH|(DI2ILHE A=)

chl: (=CR-E))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AY2S 302N 2) 102,768 91,516 11,252
olA2HH(0l2ILiE A2 71,983 64,244 7,739
IS 2HHI(DICIEA2) 71,983 64,244 7,739
101 21A4H| 71,983 64,244 7,739
01 2= 70,119 55,856 14,263
OAlt2I22+E
11,1302 %21 x300A1 2+ 70,119
03 SR (RINHA) 222+ 1,864 1,816 48
ogdzz=d 1,864
DEFARA(TA22)
15,5302 x2& x5 A 2+ 123 1,864
[2ZHI(0l2IthE A=) 30,785 21,272 3,513
Jl2&HI(0l2lLi=A2) 30,785 21,272 3,513
201 et 3| 15,945 15,312 633
01 AtR2tc|Hl 15,945 15,312 633
ORAM2Y AIR22ld]
15,945,000 * 14! 15,945
202 04l 10,640 7,760 2,880
01 2LHoIH 10,640 7,760 2,880
OJl=g =80 720,000 122 8,640
OJlzge8 220
2,000,000 %14 2,000
203 =4l 4,200 4,200
M EASHLRFAH 4,200 4,200
0252 Olat 350,000 * 122 4,200




